Name_______________________________  Per______________

Spring 2011 Final Review: Half Life Practice Problems
SHOW YOUR WORK!!!! SHOW YOUR WORK!!!! SHOW YOUR WORK!!!! 

1. The half-life of Pa-234 is 6.75 hr. How much (what fraction) of a sample of this

isotope remains after 20.25 hr?

	Number of half lives
	% remaining
	Fraction remaining
	Time (hr)

	0
	100%
	1
	0

	1
	
	
	

	2
	
	
	

	3
	
	
	


2. The half-life of Rn-222 is 3.823 day. What was the original mass of a sample of this

isotope if 0.0500 g remains after 7.646 day?

	Number of half lives
	amount
	Time (days)

	0
	
	

	1
	
	

	2
	0.0500
	7.646


3. The half-life of Th-227 is 18.2 day. How many days are required for 0.70g of a given sample to decay to 0.0875 g?

	Number of half lives
	amount
	Fraction remaining
	Time (day)

	0
	0.70
	1
	0

	1
	
	
	

	2
	
	
	

	3
	
	
	


4.  The half-life of carbon-14 is 5700 years.  If a 10 gram sample undergoes decay for 17,100 years, how many half-lives have the sample undergone?

a. 10

b. 5

c. 3

d. 1
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a. 10

b. 5

c. 3

d. 1

5.  Cobalt-60 is a radioactive element used as a source of radiation in the 

     treatment of cancer.  Cobalt-60 has a half-life of five years.  If a hospital starts with a 1000-mg supply, how much will remain after 10 years?

a. 1000 mg

b. 750 mg

c. 500 mg

d. 250 mg

6.  Strontium-90 is one of many radioactive wastes from nuclear weapons.  Sr-90 has a half-life of 30 years.  If our sample of Sr-90 now has a mass of 1500 

     grams, what was the mass of our Strontium-90  90 years ago.  
a. 1500 grams

b. 4500 grams

c. 9000 grams

d. 12000 grams
7.  A sample of wood that originally contained 100 grams of carbon 14 now only contains 25 grams of carbon 14. Approximately how many years ago was this sample part of a living tree? The half-life of carbon-14 is 5700 years.
    a. 2850 years 
    b. 11400 years 
    c. 17100 years 
    d. 5700 years
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